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QID : 301 - Read the following statements and identify the correct one:

[1] “Principal modes of adaptation are assimilation and accommodation by which an individual
adapts to his world.” Piaget.

[Il] "The modes of adaptation were variation and natural selection, by which a species adapts to
its environment”. Charles Darwin.

596 89l 929g 99 6 696l 0F I8

[I] “2geaaa goN RaI0 6298 AITIRad 8 QUSAIRS, AIFFIRI 664 SRl 6 faq gRaIg 8ggae KGN
dales!

[Il] ‘2geaa R0IegEs cead F6Re 6 9IgEe 99Q, ARl 1 aIF §% 0f6edq Ag9Re @R’ 9IRa
Q1985 |

— Techofworld.In

1) [I] correct and [ll] wrong
11 0% 6 [ll] gR

2) [I] wrong and [II] correct
[ §R 6 [ 0]

3) Both [I] and [ll] correct
Q@ [1] 6 [11] Ok

4) Both [I] and [II] wrong
Q@ [1] 6 [I1] gm

Correct Answer: 3) Both [I] and [ll] correct
Qe [1] 8 1] o]

Candidate Answer: 3) Both [I] and [ll] correct
Q@e [I] 6 [I Ok

QID : 302 - An infant sucks on whatever object touches his mouth, assuming that object as her
mother’s nipple, is an example of which concept of Piaget's theory of intelligence?

9% §ge OF 6a QISRE §5a Q¢ 62IRAN SI2Ig AIRIR 86 BIF gefiad, 1@l Jueee 6al §8% 6R4
deiga 2age ?

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e58q=MmU4Yzc5MmEXMjliYjFmZjdjMik6Z...  1/68
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Options:

1) Spatial
e AR

2) Assimilation
ey laty)

3) Schema
Q@9 Gaq4
4) Equilibrium
Qe

Correct Answer: 2) Assimilation
RS

Candidate Answer: 1) Spatial
QI AR

Techofworld.In

QID : 303 - Which of the following is the correct order of Piaget's four stages of a child's
development?

FANYS FrRIQ @6 §¢ T@19 AN J2aT SI69IS 2aq A0K g1 ?
Options:

1) Pre-Operational Stage, Concrete-Operational Stage, Sensorimotor Stage, Formal-Operational
Stage
§-21060271R 904, FFT-UACAARIR, 994, 6ACYNCAITR 98, TAIR AUACRAGIR 0RE
2) Sensorimotor Stage, Pre-Operational Stage, Concrete-Operational Stage, Formal-Operational
Stage

626QA16F1IER 994, T-2U6AATIR 06, *FT-2TCAAFIR FRE, TR AACAAFIR FRE]
3) Sensorimotor Stage, Formal-Operational Stage, Pre-Operational Stage, Concrete-Operational
Stage
696QIREAITR 5], TR AACRARIN 92€], T-ATEALAFIR CAE, FFF-UTCAATIN Q€]
4) Pre-Operational Stage, Sensorimotor Stage, Formal-Operational Stage, Concrete-Operational
Stage
F-21a6099IR 2R, 6ICRNELUTH 94, TEIR AUCRIAAIR 004, FFF-AUCAIFIN FRE

Correct Answer: 2) Sensorimotor Stage, Pre-Operational Stage, Concrete-Operational Stage,
Formal-Operational Stage
6Q6QIA16AITR 004, T-2I06QQRIR 904, AGGE-2IU6AARIA 294, TFIR LAGAARIR CRd

Candidate Answer: 2) Sensorimotor Stage, Pre-Operational Stage, Concrete-Operational
Stage, Formal-Operational Stage
6Q6QINNEATR 0Q4), T-2TERARIR R4, FFF-2ACAARIR NG, TAIR ATEAARIR R

QID : 304 - The term ‘deferred imitation’ which relates to a child’s ability to imitate absent object
and activity in pre-operational period, is given by:

FRT0 2gRad’ §v, Q12 J-UU60QRIR AANEA AGOTS 98 8 ANIRRIA] Jga 2GR0d QEQIQ AVFIG!
QRFe, G121 @9 gBaIes Q@ReR ?
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Options:

1) Sigmund Freud

dons Jae

2) Jean Piaget

@] Qales

3) Heinz Hartmann

628 21971

4) Jean-Jacques Rousseau
@R-SYINQq Q6Ql

Correct Answer: 2) Jean Piaget
@q daies

Candidate Answer: 2) Jean Piaget

Techofworld.In

QID : 305 - Genetic epistemology is:

QR TR AR R4 26T ?
Options:

1) A study of origin of knowledge

H19Q 2 LA UL

2) A discipline established by Sigmund Freud
done Jees gIel 2919e 99 gagd

3) A study of heredity

QAGGIR AR

4) A study of human genes and hormones.
I8 §Q 6 2EAIRQ 2RI

Correct Answer: 1) A study of origin of knowledge
HITQ IR LN AR

Candidate Answer: 3) A study of heredity
QAQIRAR AR

QID : 306 - A teacher, in a question paper, provides clue words in order to complete an
incomplete story. This approach to teaching-learning is called:

@64 JAR I8 9YagEq 2°agd gal e Jd ARQ! AR ACRER 9 6Rsn | IT JQd 986 Q & 9BeRIsg
Q@€ QIAN ?
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Options:

1) Situated Learning
aqgee aal

2) Scaffolding

QICFIRER

3) Metacognition
®HFNG1Q

4) Defence Mechanism
gosll QIR

Correct Answer: 2) Scaffolding
QIR

Candidate Answer: 3) Metacognition

" Techofworld.In

QID : 307 - Which of the following is not an area of learning?
QIRYe g Q8 EBIQ IR 689G 96T ?
Options:

1) Knowledge
®Hq

2) Concepts
Gae

3) Memory
9c

4) Skills

@Al

Correct Answer: 3) Memory

9@

Candidate Answer: 3) Memory
9@

QID : 308 - "Spelling bee” is a formalised game of memory. Which form of learning does it
involve?

"cAnE 8" 6208 960 9@ BAcR 641R | 9Y6R 60Q 9RO JAI 2BEe AE8 ?
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Options:

1) Rote-learning
6QI8RA F166 QYS!

2) Deferred imitation
Qede daI(Rd6eay)
3) Operative learning
AL6LIG Sl

4) Figurative learning
goIRIae gl

Correct Answer: 1) Rote-learning
cRIFRG F168 QS

Candidate Answer: 3) Operative learning

Techofworld.In

QID : 309 - Knowledge of which factor helps a teacher to know the growth and development of
her students better?

RIGR 629 0@ 964 J9eq A9 21g7IeF0 98 (G FQIE AM96Q FIGQI Gl ATIR 629 ?
Options:

1) Heredity

TR

2) 1Q level

IQ aa

3) Physical Appearance
SRR GIQdl

4) Progress Card

o8 a8

Correct Answer: 4) Progress Card
geG a8

Candidate Answer: 4) Progress Card
goId 99

QID : 310 - Read the following statements and identify the correct one:

[1] Identical twins are monozygotic and have same sex.

[I1] Fraternal twins can be same or opposite sex and their genes are as different as any other
brother and sister.

G669 2RI IR QY 8 696E 0] 189

[1] 998G 6adIAIRQI QIZie IRdge 898 268 6 AAIR AT 388 6TIRaIS |

[ll] Fa8F AAFEE AL Q1 AIURG AT S48 62RAINE (8 CAFNIRTR 67 24 Ala 6 KdE & 2ARG
ceIRAN |

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) [1] correct and [IlI] wrong
[115R 6 [11] @R

2) [I] wrong and [ll] correct
[1] R 6 [11] O

3) Both [I] and [I1] correct
Q@ [I] 6 [I] O

4) Both [I] and [II] wrong
Q@ [1] G [I1] gm

Correct Answer: 3) Both [I] and [ll] correct
Q@ [1] 6 [11] Ox

Candidate Answer: 2) [I] wrong and [lI] correct

Techofworld.In

QID : 311 - Which of the following is not a characteristic of Charles Cooley’s Looking Glass Self
Theory?

FARYO AUQ 62QG SIf PERe Zineds ARIBQ U@ 6399y Q6% ?
Options:

1) It portrays that human mind is social

gl FIGQ 89 AAIRS 61 @A

2) It assigns an active role to an individual who perceives what others think of him/her
42| 698 QU IR AFA GARI QIS RN T4 ARYAIER O TUVES A4l VIS GI2l QB2

3) It advocates interactionist perspective

42 AI99a9 QIS Q86RIgq AAda @dad

4) It believes that parents play an important role in child’s personality development
92| SR QIBQ TR IR (S PRI G286 |Gied

Correct Answer: 4) It believes that parents play an important role in child's personality
development
42| dgQ QYA GRIH6a IR 6l PRI ged adald

Candidate Answer: 3) It advocates interactionist perspective
42 AI998% QIS QE6RIa ANdG @Rl

QID : 312 - Which of the following is not a learning domain of Bloom’s Taxonomy?

FARYe MG 62AG IF SF1RIR IR JFINR AGAR GEX ?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Psychomotor domain
AGRISLIRG AGQa

2) Affective domain

el Eaalal

3) Cognitive domain
6Ql&@ aGaQ

4) Pre-operational domain
gIf-ereiduac ofae

Correct Answer: 4) Pre-operational domain
YIR-ARIIIFT 9FAR

Candidate Answer: 4) Pre-operational domain

| Techofworld.In

QID : 313 - A teacher spotted a child with SEN (Special Education Need) in her class not singing
along with other children. She asked the student to stand along with her and sing, while she
motivated her. This is an example of what form of education system?

64l FFR F6aY QI 2ILFIRT! I IR g AR TN AT FIRFYFIR Q6N | 64 62T g T AL
021l 6219 G0 ARG K2 AL 6JIAIES F6M | 9L 6QR JRINQ JUI FIAIQ IR AALAE 26T ?

Options:

1) Integrated Education
aAnge dal

2) Inclusion Education
2e86qdl dal

3) Mainstream Education
FeuIRl agl

4) Conventional Education
AR EQl

Correct Answer: 2) Inclusion Education
2856241 SN

Candidate Answer: 2) Inclusion Education
2eRead Sal

QID : 314 - Who is not a ‘diverse learner’ in an inclusive classroom?

@ 2856a41 69919268 @4 1@ 'dRueIgd FRIdr G6L ?
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Options:

1) Person with disabilities

2RI 2N Q4D

2) Person with different languages and cultures

AR A G A°YE Yl Q4D

3) Person with different kind of food items in the lunchbox
HY QFER SR YRR HIY Q| Q4T

4) Person with different interests and ways of learning
Q02 Qgl 8 JRI0 AR QAR YAl Q4B

Correct Answer: 3) Person with different kind of food items in the lunchbox
SIQY QIFER TER IRIRQ I 2T NG

Candidate Answer: 1) Person with disabilities
AVARI &I Q4T

Techofworld.In

QID : 315 - Which of the following is not a committee/policy created around inclusive education in
India?

099 6200 NINGEA 2A2FERA1 ARl dip Q8 9@ *FF/G00 g6 ?

Options:

1) Integrated Education for Disabled Children (IEDC)
@96g/66Q NgEadq Iq F6Agng Fem@ (IEDC)

2) Kothari Commission

6R101Q @AQA]

3) Sakshar Bharat

dI8Q QIR

4) Mandal Commission

8ae @0aQ

Correct Answer: 3) Sakshar Bharat
YA WAL

Candidate Answer: 3) Sakshar Bharat
IFQ QI

QID : 316 - How could a teacher hold the attention of a slow learner?

AR 9@ U191 FFIEQ UL 699 QAACA RAIR QY1 AFE 6268 ?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) By using the technique of motivational dynamism

Q6 GAEIRG! 6RNIR TR /RQ! Tl

2) By making him sit in the front row so that he can easily copy from the board.
QI 29 §IFER QARSI 60T 69 ALFER GRIUTIQ ALIQ VAR

3) By making him sit with an intelligent student

QIg Q@ QEIE Il JIsien RS FIal

4) By providing hand-written notes

29 QY 6919 CAIGINR! 1A

Correct Answer: 1) By using the technique of motivational dynamism
2RNEYRE QARG 6FEIR MITIA FAS FIQ

Candidate Answer: 1) By using the technique of motivational dynamism
EEEYRE QARG QIR AR KRS FIQ

Techofworld.In

QID : 317 - What strategy should a teacher follow to promote Gender sensitisation in classroom?

69419260 ATAIS A0 69I1A1TG AGQ! QI 99 699 AAIA AIVEAR AITER ?
Options:

1) To select students for class activities that defies their gender.

TAIRE Aer TAER 68419261 RIY 9 B

2) A teacher can encourage educational activities for children to inculcate moral values and
respect for each other irrespective of caste, gender and religion

SI5, AEt 6 uF FTCATER AR AR 655R RYERI 6 ARIS FHAQ AR TS QY QIR 9L 691ATS
QQEQ

3) By allowing girls to come in school pants rather than skirts

FAIeg A6 *0R6a AYId AR 213eIg 29AF 6@l

4) Organising a play where boys play female character and girls play male characters.

9@ QITGQ 2GRS KAQ 6U9ZER GAILE AZR QI 9R69 8 F2AIER YRB AARI @F6Q

Correct Answer: 2) A teacher can encourage educational activities for children to inculcate
moral values and respect for each other irrespective of caste, gender and religion

@15, A 8 U GECATCR AAIQ AR 67ER JRIE 6 QAL FHIRGI AR F84 QIdY Al FAL 69IAITS
Qq6eQ

Candidate Answer: 2) A teacher can encourage educational activities for children to inculcate
moral values and respect for each other irrespective of caste, gender and religion

@13, Mer 8 ¢l AE6aT6R A0IR QIR 6704 ARIEARI 6 QAR FHIRRI AR FNE QIdY QIR J99 691ATE
Q6

QID : 318 - Which of the following statements is not correct of Autism?

2680 AN6R FIAYS FrIQ @8 OR gew ?
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Options:

1) Autistic child has over-exaggerated concern with oneself and little for the environment or for
others.

264Q d9a Gea@e 2GaBe AR M 6 9f6ed AR QI AFAITT Ll FE 21

2) People with Autism are intellectually disabled

2566 Q1 FGAIEE gRIQIR G6%

3) It is a developmental disorder characterised by severe deficits in social interaction and
communication.

42l 99 FHEFe A9 U6T, 64QER ANIFR TRAY B CAITICUITER TN AAIS 9&aIa

4) It is first described by Swiss psychiatrist, Paul Bleuler

2Iq gaen §Q A6RITRIAT IR QUAUS SHIRYER

Correct Answer: 2) People with Autism are intellectually disabled
2TE0 21 FGRIEH YRIQI] Q6L

Candidate Answer: 2) People with Autism are intellectually disabled
2T 8191 AGAIEE GRIQIR Q6L

Techofworld.In

QID : 319 - ‘| started education programmes for disadvantaged children in Rome. | introduced the
concept of ‘prepared environment’ for classroom teaching. | advocate teacher as an observer
(who learns a lot from child) in the classroom teaching." Who am [?

‘(] 6911 60 2GGAR TRFAIGE AR TG QITIGE AR @GR | ¢] 694192 ITNE AR 'YYLe TS’
ARG 62RR | 654192 FANR6R FI@ K66 699G (IR TOIR 2era 8 dgaN) 61m ¢
QdIRaA 1 g @a?

Options:

1) Friedrich Froebel
6TERR 6TI6R

2) Maria Montessori
IRl (64Qa

3) Heinrich Pestalozzi
62007 66T

4) Rousseau

Q6Ql

Correct Answer: 2) Maria Montessori
12 f168Qa

Candidate Answer: 2) Maria Montessori
A2l Q169Qa

QID : 320 - Effective learning is feasible only:

6@69 gRI91 S8l 9a9 97
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Options:

1) When teaching is based soundly on the best available understanding of the processes of
effective learning and the teacher establishes a purposeful and safe learning environment
conducive to learning.

6KI606R6R JAl gRIRT 91 AURS 291 9901 R BIE AUsa Ad¥eado A 6 AR Jal UIe 9@
eseaigd 6 gedie dag afeed 98 @9 |

2) When teaching-learning is done only using ICT tools of teaching.

6RECER6R 984 ICT QU@ed 19l 6212 |

3) When teacher provides all written notes in the class.

660696R dAQ 654115260 AMY YR 6AIY £QRAIUS |

4) When teacher speaks in fluent English.

6IETER6R AFR IBR AR @@@ |

Correct Answer: 1) When teaching is based soundly on the best available understanding of the
processes of effective learning and the teacher establishes a purposeful and safe learning
environment conducive to learning.

60606967 9l gRIR1 49IQ AURT 291 A0IQ AN BIE AUl Ad46ado 2 6 99 §8I UIRl 99
eaaygd 6 gealic 99¢ abeed 98 @8 |

Candidate Answer: 2) When teaching-learning is done only using ICT tools of teaching.
GRECESER 494 ICT QU994 9Ial 6212 |

Techofworld.In

QID : 321 - Who introduced the term ‘behaviourism’ in the realm of psychological theory of
learning?

FAIG F6QIARIGS TS AFAAER &4 '2ARIG'Q 2GR IRER ?
Options:

1) John B. Watson
@F &. ueaq

2) Heinrich Pestalozzi
6200 69BN

3) Howard Gardner'’s
62196 QIEERAY

4) Jean Piaget

@ delea

Correct Answer: 1) John B. Watson
@ Q. ¢eaq

Candidate Answer: 2) Heinrich Pestalozzi
6206 6aLIERIT

QID : 322 - Rewarding only the ‘best’ student in the class is not considered to be a satisfactory
approach. Which of the following reasons do not support the above statement?

65415260 679R 'AZ0IQ AR’ SIGY YOYE FFSI IR ACBIFHRR QUL 6 | FFR 6949 AN AUEAIS
Q20 gAIde R6aid ?
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Options:

1) It can engender feelings of unfairness or competition among the less able and lower attaining
children,

N2l 98 7101 QdIY 6 @9 gI9 @Q2j9l IRIFIRE (168 I9UI60! |1 gGeIsicn ekl 98 QaURdIes

2) Rewarding such children will make them more intelligent and smart.

9 dRIg 9aQe QAR FIal GAIER 2@ QRIS 8 QF 6261 |

3) Rewards do not always lead to higher quality work.

eRIQ 99 QLINR QIF KAl F1F |

4) Rewarding children who are already well motivated may lead to a loss of interest in the subject
IS ANSIFER AREYAE ARSI TNFING JAAYE FER 67T I IO AIge A |

Correct Answer: 2) Rewarding such children will make them more intelligent and smart.
9@ dRIg 9ege KR! FIa1 IAIER 2@ Q8IS 6 9F 6269 |

Candidate Answer: 4) Rewarding children who are already well motivated may lead to a loss
of interest in the subject
2I9g ANSISER ARNEYAE AR TRNIRG JOJYT A6 AT S0 96 2Ige *FLN |

Techofworld.In

QID : 323 - Which of the following is not correct of Integrated Learning System (ILS) ?

4198 881 Q4e9l (ILS) Ar@6a G99 6aa5 AeY g6 ?
Options:

1) It is computer based system for teaching

42l Aiea adieade Sad 2ee

2) It includes a number of management tools for assessment and record keeping
EEQ Myl 8 6QRe Q< IR 26RS gl AARIRY QAXAS! 21

3) It operates like Skinner’s behaviourist ‘programmed learning’ theory

92 A6Q & 2IPAdIQ '60Igie| dQI' ITIB 9Q ARGIRe g9

4) It is a game app for SNE (Special Need for Education) children

2! SNE (931 919 889 2984e6!) RAISE IR 9K 631@ 21

Correct Answer: 4) Itis a game app for SNE (Special Need for Education) children
42! SNE (8al 2Rl 399 2I944a0!) IRAINE TR IR 639 29

Candidate Answer: 3) It operates like Skinner’s behaviourist ‘programmed learning’ theory
921 G0Q & 2IPALIS '6gIgia 9 ITIe 9@ leIRe 949

QID : 324 - A student does not finish his homework on time, talks through out the entire
classroom teaching and hits other children. What kind of behaviour is expected from a teacher in
such situation, which leaves a stronger and longer effect on the student?

K641 TRl 9IQ PRI AANER S8 KEARIE, 69415126 SIVIQIR AALER LTAC FI6T B 2R TR IS |
OA 69660 964 JAQ FUR YeTIQ KA FQ 6994 019! dnl A 99 B LN JRIS ARRS ?
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Options:

1) Positive Reinforcement
daQltle QLR

2) Negative Reinforcement
@A QLR

3) Corporal punishment
SIS @8

4) Avoidance

aaeQ

Correct Answer: 1) Positive Reinforcement
RN L1

Candidate Answer: 1) Positive Reinforcement

Techofworld.In

QID : 325 - An English and a Social Studies teacher gave a common project on the topic, History
of Indian Partition, as depicted in novel Train to Pakistan and in history textbook as a part of
internal assessment. This new approach for assessment in classroom promotes:

§66 ARG G ANFS IRIF IV AR FRYIAE AR 66K ¢ VRAUR YR B ACLIA AOYYIFY VNS
SEIRG AETIA AUEQ IR ARIGE JRT FAGIQ FTER | 65416260 (RIILTA 9T G2l AAIA R4 6gIATS
@6a ?

Options:

1) Integrated Education
qQ1ge 9l

2) Traditional Education
qlegae 8l

3) Inclusive Education
2e86ad1 89

4) Formal Education
Gaoiae sl

Correct Answer: 1) Integrated Education
IQ1qe gl

Candidate Answer: 1) Integrated Education
@199 8l

QID : 326 - What among the following is not expected from a teacher?

FIRYC FUQ 626G F66 AVRT OIQ ISl QUAN QIF ?
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Options:

1) Master her subject

e Qa6 QIQ!

2) Encourage students to become life-long learners
darieg sleeeud daiged *del A 6gIAIEe QG4
3) Give good marks to her students

7% SIGRIGG AR FIF 624

4) Develop new teaching practices and techniques
92 §98 2RI 6 6P IRNIG FCS

Correct Answer: 3) Give good marks to her students
79 2I8RIGT A AIF 694

Candidate Answer: 3) Give good marks to her students

‘ Techofworld.In

QID : 327 - Which one of the following is not correct of CCE (Continuous and Comprehensive
Evaluation)?

CCE (G2 8 Quae J91) 68961 794 6906 0x 969 ?

Options:

1) It makes teaching -learning more child centric

\2l 891 2@ S9! 6091R K6

2) CCE was introduced to get away with exam-centric approach of evaluation
il A @4 1R GElq QW 6QQ alxl CCE 990 @aldixem

3) It focuses on a holistic development of child’s personality

42! 899 @1Eea 94 Q19 QU6 AR &9

4) It makes students life stress and exam free.

V2 IRIQ 91909 O3S 6 ANRIFS K6Q

Correct Answer: 4) It makes students life stress and exam free.
N2 IRIQ §199q T39S 8 A K6

Candidate Answer: 4) It makes students life stress and exam free.
2| RIQ 91909 92U 8 AAIRIGS K6

QID : 328 - As per Right to Education Act, 2005, what is the total number of working hours per
week, including the preparation hours, for a teacher at primary level of school education?

A9l 2RI 2IRY, 2005 AIRER, YT I8 FRURAER 9gF ANRY AR AFILEQ DI 665 AT
Q8Q ?
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Options:

1) 25 hours/week
25 Q4l/agie
2) 35 hours/week
35 Qq/agie
3) 45 hours/week
45 Qal/agle
4) 55 hours/week
55 Qa/agle

Correct Answer: 3) 45 hours/week
45 QaI/agle

Candidate Answer: 3) 45 hours/week

Techofworld.In

QID : 329 - Which among the following is not correct of National Council of Educational Research
and Training (NCERT) in India?

@910 991 96296 8 g8ing 9aee (NCERT) Q#1960 GORge Fuig @4 O 964 ?
Options:

1) It is the apex body for curriculum- related matters for school education in India.

2| AUNPER FOUIRL QIS FFICA TIOGE AHEE GHE IR QITIRS A°Ql 26T |

2) Provides academic support and technical assistance in improving the quality of education in
India

QNP6 FFIQ F19 9F Q@AQ QIR 921 63TR AL6AIT B 65TRS AL6LIT F6Q |

3) It is the academic adviser to the Finance Ministry of the Government of India.

42! QIOG AARIQE 28 ARCIRAR 63T ATIAR 266 |

4) It conducts and promotes educational research

991 91 QAR LTSI QRN 8 67IEG @AURAN |

Correct Answer: 3) Itis the academic adviser to the Finance Ministry of the Government of
India.
421 A0S AR 22 (1RGN 63TR ATIAR 26T |

Candidate Answer: 3) Itis the academic adviser to the Finance Ministry of the Government of
India.
gl Q0 ARRIaS 28 adinaa 63T AR 26S |

QID : 330 - Read the following statements and mark the correct answer:
[1I] Assessment: Collecting information on the learners’ learning using a variety of procedures.
[l] Evaluation: Making judgements on the basis of information collected.

5060 2]l 29N 9eg 8 0] A8 A4Ig:
[I] GRYIBEG: FaR 9EIR1 QIGRIR 96 QIR J81 AMRER YOR! A°gL /AR |
[Il] FRUISE: LGLIe oI QU6 FISIAS YRl QEQl |
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Options:

1) [I] correct, [II] wrong
110, [Il] g

2) [I] wrong, [l1] correct
[ @, [111 0%

3) Both [I] and [Il] correct
Q@ [1] 6 [11] O]

4) Both [I] and [ll] wrong
Qe [1] G [I] gm

Correct Answer: 3) Both [I] and [ll] correct
Q@i [1] 6 [11] 0K

Candidate Answer: 3) Both [I] and [ll] correct

Techofworld.In

QID : 331 - QINIFR KIES TS NG QI |
Options:

1) gaq Qugl

2) QIS 2RIGRE Gl AR

3) Qo1a Sl

4) QU6QIS FIQ 6FEET qes

Correct Answer: 1) gag @ugl

Candidate Answer: 1) ga¢ gl

QID : 332 - QIgRIAI A0L W6 TR FIN FISRIFIF UG 2QYIA Q& 6212 |
Options:

1) ag

2) QI 2GRS

3) |19 2JgLE
4) 999 2GR

Correct Answer: 3) RIQ 2924

Candidate Answer: 2) @ISl 2i2Jg24

QID : 333 - 964 9121 G am 98 Q1 926! 6801 @Ian ad 9fe ?
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Options:

1) JRIQ QUES AGRAS @G @ A @
2) QR INISRIQ K O

3) QAULGR AAR1RAE @5

4) Al QIR 161 QY

Correct Answer: 1) S91Q QI6Q GRAS 9@ @)l QA @

Candidate Answer: 1) G910 Q169 2GRAE K8 Al LYY |

QID : 334 - QIBI IG° QYT ARIER READRAR I9° AWIRA QI°01 9361 AIR |F ARIFR
Jagig QLIdy 2RAI6], QIR @ NG FIFER VG| AR *AR, YOF! JIg K391 9e° AU AU
FAGIER QIR AFIR 2R 26T | Fag FEag A0 IR ¢IR YRR 893 |

e Techofworld.In

Correct Answer: 4) 229 @9

Candidate Answer: 3) g8l

QID : 335 - @64 d9a dFIQIGR JIRAeR Q958 09Ql RRCITER QIF |
Options:

1) g&eal

2) NS
3) AAIERIGS!
4) AIFR1R0E

Correct Answer: 2) <2194l

Candidate Answer: 2) {¢i91@Qd

QID : 336 - 9ISl 9RI6a Y60Ye Jnl 6R60IT 6AINIR 608 2T KRl ?

Options:

UM
oo AW

F Y
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Correct Answer: 2) 4

Candidate Answer: 2) 4

QID : 337 - QIFIQ Q98 APIRS! AGQ?

Options:

1
2
3
4

Qar §6a edql @Gal 986

@2 9T 2RI ATE

6RYQl 916 @ 2AARREAS 694
daEinieg fangeq duaa

—

Correct Answer: 2) Q2 @291 2944 980

Candidate Answer: 4) d9d1CI0G GAAgEq ARl
[echofworld.li

QID : 338 - 661G §0Q 22 @A RIEQIG §97?

Options:

1) @649] AT I U@

2) ARERIY

3) @@ e

4) QQ18

Correct Answer: 3) Q8 9@

Candidate Answer: 2) 4619

QID : 339 - QI8 AL AUILGER @'§1?
Options:

1) QG QUER

2) QRIS 9§l

3) 12 g9

4) 9gPag 6x6ds gee

Correct Answer: 3) 729 gg&

Candidate Answer: 2) Q1991918 9F

QID : 340 - 665N 5th 6410 819Q SQIRIGRISIG QAITINER 9F @QUAIRAITR|
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Options:
1) G 6 REER AIRIIER
2) AR} RE°

3) 6071 AITIAYER
4) Q99 I 6 6] AITIWIER

Correct Answer: 2) da18q R&°

Candidate Answer: 2) d71d] A&°

QID : 341 - |l JaEieeea 9@@ ARIRE FRLI QS ?
Options:

1) 97167 AN F9R 6991AIQ 9AIK A°GR SRS 2IQEUR
2) JFQRCER BIGAIGT 2ELILEG @A ARG

3) dQQAIER BISAIRE g6 CIIRSI 2GR

4) QU TG AL

Correct Answer: 1) d99¢68 R G8@ 69QIdIal JFIS A°GL QI AIVENS

Candidate Answer: 4) QJEQI2 FUQ AYD

QID : 342 - FORYS FUIQ 690EY JAICIE 299 AERY FEQl AR QISR FFER?

Options:
1) 816-SeIRIG1-589a 6508
2) 69Q4Fw

3) salQgew
4) QU6 FlIq AN

Correct Answer: 4) QUeEQIR F1UQ QA9

Candidate Answer: 4) QUJERID UQ AS

QID : 343 - 36718 FR99ER FUQ 6968 O]? AFRIAR AR FRIER 0F

Options:

1) ALY gOIF FA6R 2SR gorl 2R /ae!

2) ARIPIE QIR TE0 AERQ 6292Q 6AGER SR AN AACAIT FAITS! 2SR & FIGQI IR IOR 2AAR

3) 9@ §aiel gIAFe 6@Fl9R 21dm QRIS 6969 ZRI@ AR FITISRITQ Quegl
4) QUSRI FIQ AN

Correct Answer: 4) QJeql® FQ A0S
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Candidate Answer: 4) QJERID F1UQ AFID

W

QID : 344 - G699 G‘G“Q@L@Q Q669 OR? 694 AU ﬂ@ﬂ@@ FRLAIRS IR FARQ QI §26 *R4I
Q° 698 2qiei! FFRFIEE AUCLIN IR aAgdIine QRFQI6R ALY ARG AR AR LI
@A

- | @chofworld.In

1) QERIAR ZIRRS

2) 6QIGIER AIRR

3) 9IR-2RFQ

4) 596 AAQYI AGAILH AR

Correct Answer: 1) QEQIAR KRS

Candidate Answer: 4) G926 QAQyl 2gQIe AARIF

QID : 345 - AQIFKIRF0IER 9FR! 6391q RS R0 FARAEE F'¢ KR QBT7?

Options:

1) 66151 QHI6AR &4 SI19RY 919 99G
2) an RI6e 939 UIBl 622 T8 67@ 94 SR @By
) Sidinieg feq F6e 0fel a9 geg
) 69

I QHI6QR @) 1A 6QQR F6a IF AR QLT

3
4

Correct Answer: 2) 9 @I6Q §3QI digl 692 F90q 669 g4 G2IQ Qag

Candidate Answer: 3) JQIdIAI9E G4 F68 0QQ AR 928

QID : 346 - ol §ASI 2IQYIQA AU HAIT YRS AFeN|

Options:

1
2
3
4

2GR 2QAICR FEaI 6TaR

a1 FRTQ @ ALY QIS

gq 6IqEa @2l @2Ql

JRIeaa Qelq Y9 AIGT6a §aial

— e

Correct Answer: 3) §Q 631960 @2l @EQl

Candidate Answer: 3) g9 691966 @2l 934!

QID : 347 - ARIFIER FAIQIQ AFAER JVIEAIFTA EQ€I1IQ Q€1 6RIGIPIR YRR 699
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Options:

1) 6RKREN 6718

2) 66G9-91 67121

3) 2B6-gaIR 19

4) 26R190] QAR QAER

Correct Answer: 4) 2ISRISF @G| AAILER

Candidate Answer: 3) 2@3-Qg2In 99

QID : 348 - g 2 62 CTINARE QA8 6RIS 2° QEAARE FINRETRTR 2 Q6B ToF?

e | €CHOTWOrld.

Correct Answer: 3) g&4gsca

Candidate Answer: 2) G50 BAREEISAE

QID : 349 - JRILIGR Q9IR FINLIg @ gRISIRT 6RIRIN|

Options:

1) Gmaea

2) 2ITQIR6R

3) AQ6QAq 8 CUIREE
4) AEMEQTYER

Correct Answer: 1) &R96Q

Candidate Answer: 3) @Q6d¢ 38 €HIQEa

QID : 350 - “QIFQI" 90 U5 Q2IQ 9@ 2°8 QIRIER QILLIC ERINT ?
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Candidate Answer: 3) @4l

QID : 351 - G6QIB QIRIQ A0R F68848 FIRZ | AL 6546160 AQUEES ARl |

Options:

v« [echofworld.ln
3) agude

4)Q

Correct Answer: 3) 29dde

Candidate Answer: 3) 2g93¢

QID : 352 - 69150 @2 F68E A2 Y4 AR YIE @R | ¢ 1001 996Q SI9q AN |

) 6Q6REQER

2) 269

3) Ag6Q6R

4) dRIIQEIG

Correct Answer: 4) QRIQEISS

Candidate Answer: 1) 6666w

QID : 353 - A0 JeaIEAq A2 JRNAIR Jod @9g | 671 G8 QIQ QIG19 24 6x19d 6aR16a QI @GS
¢ 98 QIRE QI |

Correct Answer: 4) GIgsQ

Candidate Answer: 1) QU6Q

QID : 354 - G6qI8 9@ Qg /A | A gaId
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Options:

1) Qg
2) QIQ

3) /9 QUG
4) RIAEI0T

Correct Answer: 1) Qg

Candidate Answer: 4) QI€691QG

Techofworld.In

QID : 355 - RGO JQYI°aq JINQ ATe Ueg 99 FI6a Gl KRSl g4 Jeea a8 Qg

AR VIR SR, QO A0 AIRER
AR RIS ARG, I6Q QN2 YMER |
Q8 6 604G RN, AR AF [,

In FoAUS QI96q, 2169 962 9L¢ |
BJ6R 2660 F9I6Q, A6E AR QIQ1,
@ O3 PR gNIQ, 694 6Q4Q 2T |
a9 919 NG A96@, FI5 206 A6
2116 Y1 IR, AL 2GR A6Q |
QL6 SIREm AR, 2L @ A6FILR
6Q QI1e §R64), 209 Q1T @60 621LQ |
SoF AGES QIRER, I AR F6Q
2060 9r1Q 899001 98 RI64 |

dYQ F9QG @€ ?
Options:

1
2

3
4

SRR g8
ASal

I

Jeca e4q

R

Correct Answer: 4) g95a Q€@

Candidate Answer: 4) g90a q4q!
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QID : 356 - AYS SR UG AT QGG Ie° FE6a T2 AINASI 9 FFR0 Aa GG |

ATR 2AFQ PR, A0 A0 ARER
91 gelIe AL, 969 T8 IRER |
Q4 GG 693 QABR, IR A8 [,

In gEes QIFER, M160 962 9a |
26M 26099 GFI6Q, U6Q RS QU1
@ 96 9GRI 8IS, 624 6Qag a1d |
/e gId aé 9669, F1d aden e
2RIE AL gam, A1 BIGL QER |
Fe66! GINER WGFE, AT & FERIZR
64 GG §2661, 2aL FIT @60 6711EQ |
GO ARFED QIRER, CI2 NG F6S
2068 9FIQ aledsl 98 QIQsd |

@@ JRIFIRE ¥4 ARIRIR 6998E7

- ] @Chofworld.In

1) gy 6R6BERER Q0B 923
2) B4 999g 99IFe @aB

3) QUIGT 6R6G6R6R IS 9
4) 396 98I @4

Correct Answer: 2) @4 Jeqq g9I8¢ @9@

Candidate Answer: 3) Q2Q16@606R6% GIge 94

QID : 357 - RYS SRIEF 219 ATC 0gg IS° FREa TU ARSI 94 9FeR 9ea Fag |

JIERI AR AFFT, Q0 A0 AINER
G915 gele AN, 969 Q12 INES |
Q4 G99 606 QER, IR 98 594,

Im gEeE QIF6q, MI6Q Q62 J9F |
26 65T FFI6R, A6S Qs QU1
@ 93 9GRI gaIs, 679 699Q 21d |
99 gId A A86R, FIT 206 A6
2IRIE 921 gaml, 7121 G0 AsS |
QU6 QIeR ATIS, 2Rl & FERIZ9
64 QI gQ6dl, 299 A1 Q60 67129 |
Qe ATEE QRER, TIIE UG A6R
2062 901Q 990961 Q& QIaed |

Q121 AFe TMIIER PR AT QIR FRB?
Options:

1) a8l

2) 2igqe

3) as1

4) ggt

Correct Answer: 3) dd1

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Candidate Answer: 3) ©Q1

QID : 358 - AORYE KRVIQ AINER AP ¥I9° AR A9 ALie aa Aea §2g |

QIEAIT RIQAUYH 96RR ¢ 9a°

QTR Y6, RINE RIGLUER AFYS!

6816 I8 S1RIQ AN NL° ARG 6ANER A7 621083

JI9 6TI2RQ 6RIFIE Ada 2RI @

AIF2I Q6 RIQElq ARIR AIF ALYe @59 9f §Aew OR ERAE ARG AR8s!

gl §o1E geIS 69 6TISRI6R AIF 2831 0IQ 267 AIgaR! 6240 2Id a28den AIdig 6702R g1 FIRERI
A% Q9 HIQY A°GR FEM UQ° JARF AFTER| §R6R 9G 665N IGTR AIRAF] A SRR, GI'Dl
694IgER F66 6017 ALAT TIRR AR 6HINYR | 38 FeTRI TG QUIFPR Y€ Q6T 718 AF| 2IGY AFIAER
6QQAIER SIR D6RER 6290 2F A2TAIRYER, CAIKAIR AQ IR AIgEa F9g ARYE F6M 9a° YRIT6a
QECINGIEM] G641 6AIGIA FRTER QATIRER A Q| @G AIATE QYA QIGE 9&° AIE RTS! Y6Q &
QEAFIIER AT 6RRT IR AT T2 | SEAFIEE QEFIR IR FLRA ACIVER QTS | AYAQ 2R AIRATIFER
6019191 BRINES 99° AQ0IQ AR F1IE 659 FINJER | ATINGS 6a19Q 2IFI FIF, 6x183 AFAIE 1L, 69
adie g6q G6Qd QIR @9 Age 6840 ARIAITAER ALRRIR 629

QUELIB INIPEER ENLia J9o6a 6aw 2 dIaQly SI98E?

= Techofworld.In

1) Q6RRAINET QUER 20R'A ZIIJTIGY
2) 9% RU6Q SCARFIFTE XA
3) QUSRS QU6A ATIFAFIRTR SUIJTH
4) Q2IRRFIGT QUEQ QIRTQ 2T

Correct Answer: 2) 29 QJ6Q QEARAIRER 2IXAGY

Candidate Answer: 3) QY@@ QUEA AL EIRIUSY

QID : 359 - GARGE KRVIQ AUIRER ARG NL° GAR QIS ALIS 4R ARQ G21g |

QIeQIT QGRS G6LR G 1Q°

QUITR g6, RINE RIGLUER AFYL!

6816 (I8 91RIQ @AQIF I9° ARG 6AANER AN 62IR8S

g9 6TI2RQ 6RIFE adye 2RI G

AIFal 99 QIQAY ARIY QIS Adie 989 @f giew ad ARG AR KRR I

g1 9O1R 9IS 60 6QIHQIER CIg ABE| 20IQ 26R AIRAF] 6990 2Id 92Fgen ISy 69224 @9 AIRER
7% 919 H19Y QgL FEM I9° FARFI AEIER| FRER 9 691G YqFel AIZR HRI 6AKIAMI, BI'A
604IgER R64 6717 ALET JIRR AR 6HINIYN | 38 F6edll TG QOGP Y@ R6AF FI8 Al 2IG] AR
6QLAIER HIR C6a96R 6060 21T A2BAIRAER, AIHRIR A IR A186a Feq ORI FER Y& IRINER
RECINGIEMI PEF1 6UIA HRTER AATER VA FA @G AATE QI QIGEl 9e° AIf KT J6Q @
QEAFIER AT 6RRT IR AT Q2 | FEAFIER FRFIF IR FLRR ANLER AFS | 2YAQ AR AIRAFIFIER
6015191 BRINES 99° AF0IQ AR FIIE 655 FINAER | PATIRFS 6a16Q 2l FIF, 619 VFAIG 1T, 69
adie @691 3604 QIRR @9l JYe 6246 ATIANRER ALARIG 622

Joa JPg6a FIgaE| QI AR G99 6RdIg TR AQE?
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Options:

1) @64 6AFRICIRR IR AF
2) Q64 GCRSEFIRG IR G

3) 966 QUG Qell A&

4) 3Q1F6 @IS AIARR 697 9

Correct Answer: 1) @66 6071QI620w ClRg 9@

Candidate Answer: 1) &66l 6FCAIEERE GIQAR GF

TechoﬁNoHdIn

QID : 360 - FRYE KFGIR UIFER AFF Ie° 9RQ A AdYs g9a eea 32g |

QI6aI5 RIGEUYF S6PR ¢T 9e°

QTG 26w, AN RIFEES AG2S

6816 FIg J1RIQ FRRIG I9° HIRLIQ 6AAER ANE 6TIRBT

1o 6812RQ 61T adie UR 6

QT2 99 ARG ARIP AT adis @G 98 §Few 98 6RAC AIRS AR8E

g @910 GeI8 69 6UISRIER 7T 2851 20IQ T67 FIa| 6a6Q 2Id JZBNER CIdg 63024 §2 FIG6R|
7 JIel YIQY 2°gL PR YE° JAAT AET6RI §R6a 9 691G 1qFel AIRAR] §al 6AIRAR, B
604IgES F66 601¢] AIPRT FIA] A3 CHIRIGN | 38 FET 89 QUgHS 9 A°6aR IR O 2IgY ARIAEM
6QLSIER SN T6RGER 69WQ AT ALEAIRYER, CAIHRIA AQ GRIA 1268 HFq IRE FEM I9° ITITER
QAECINSIER| G661 6AISIS FRTEQ FATIRER QI KRl &g AAGE QU1 KIGE 9&° QI8 9R6a 98q §
SEALIER 2 6RaT 99 AIE Q12 | PEAFIEE FEFIR U9 AR ANNER 9T | AYAQ TR ARAICIER
6ISIRIG BRIRES 99° AFOIQ QR FIF 679 SIMEES | AAIREA 6al6d 2181 AIE, 67193 KNG AIT, 6@
adie g6 G608 AIRR @ JYE 6900 ARIATAER CLGRIg 629

'gIc 68I2RQ 6R1EE adis ARl 6 AT 99 QIg2g AaIR AIF Adie @Ay 98 giew Of sAas ARG
QG887

Options:

1) A9 Q°RE ERIR CAFIRFE HIFY ATFER B GFUIES AT
2) 49 QIR FlI6R 6IAINFA SIITY ALR60 B YIS AIRQI2IF|
)
)

3) 49 G°R9 ERIR 6AAIRE FE6R GRUIRI 27 K9S|
4) A9 QIR FlI6R 6Q7IRE FH6Q 95AIRl @7 Aa3)|

Correct Answer: 4) Qg Q@@ fI67 6QAIA &F6Q §RQIGI 27 AQE)|

Candidate Answer: 4) Q9 @8@ {I6Q 64QIA% FF6Q TRl 2@ G|

QID : 361 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

Mexico City is /2,240 metres up of / sea level.
Options:

1) Mexico City is

2) 2,240 metres up of

)
)
3) sea level.
4) No Error
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Correct Answer: 2) 2,240 metres up of

Candidate Answer: 1) Mexico City is

QID : 362 - Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

A postmortem was (ordered to trying) to ascertain the cause of death.

= Techofworld.In

1
2
3
4

order to try

ordered for try
ordered to try

No correction required

— e e

Correct Answer: 3) ordered to try

Candidate Answer: 1) order to try

QID : 363 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The classrooms have been cleaned.
Options:

1) Someone was cleaning the classrooms.
2) Someone has clean the classrooms.

)

)
3) Someone has cleaned the classrooms.
4) Someone was cleaned the classrooms.

Correct Answer: 3) Someone has cleaned the classrooms.

Candidate Answer: 2) Someone has clean the classrooms.

QID : 364 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

Nobody lives on Moon.
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Correct Answer: 3) the

Candidate Answer: 3) the

QID : 365 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

| shall to the park for a walk.

%mgTeChoﬂNoHdJn

Correct Answer: 2) go

Candidate Answer: 2) go

QID : 366 - Select the word that is closest in meaning (SYNONYM) to the word given below.
DILATORY

Options:

1) Delayed

2) Dilated

)

)
3) Constricted
4) Harmonious

Correct Answer: 1) Delayed

Candidate Answer: 4) Harmonious

QID : 367 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
DIATRIBE

Options:

1) parochial
2) harangue
3) rant

4) tribute

Correct Answer: 4) tribute
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Candidate Answer: 4) tribute

QID : 368 - Select the word that is spelled correctly.

Options:

1
2
3
4

Colonall
Colonel
Coloanal
Colonell

.t et

Correct Answer: 2) Colonel

Candidate Answer: 3) Coloanal

Techofworld.In

QID : 369 - Select the most appropriate 'one word ' for the expressions given below.

Someone who is extremely wicked or villainous
Options:

1
2
3
4

Religious
Nefarious
Mellifluous
Ravenous

—

Correct Answer: 2) Nefarious

Candidate Answer: 3) Mellifluous

QID : 370 - Select the option that best expresses the meaning of the idiom or phrase given below.
'Still waters run deep’

Options:

1) To break relationships with others

2) When you're really in need, you think of creative solutions to your problems.

)
)
3) People who don't talk a lot sometimes have really interesting thoughts
4) When a task/something is very easy

Correct Answer: 3) People who don't talk a lot sometimes have really interesting thoughts

Candidate Answer: 2) When you're really in need, you think of creative solutions to your
problems.
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QID : 371 - Which of these is not an indication that a pupil speaks English correctly?
Options:

1) Uses appropriate structures and vocabulary

2) Uses varied sentence patterns

)
)
3) Presents his ideas in a jumbled sequence
4) Speaks with proper articulation, stress and intonation

Correct Answer: 3) Presents his ideas in a jumbled sequence

Candidate Answer: 4) Speaks with proper articulation, stress and intonation

Techofworld.In

QID : 372 - Which of these is not characteristic of a receptive pupil learning English?
Options:

1) pupil is engaged in listening

2) pupil is engaged in reading the language

)
)
3) pupil can understand what he is reading
4) pupil attempts to speak

Correct Answer: 4) pupil attempts to speak

Candidate Answer: 4) pupil attempts to speak

QID : 373 - Listening to and understanding radio news comes under which of these learning
types?

Options:

1) Listening
2) Writing
3) Reading
4) Speaking

Correct Answer: 1) Listening

Candidate Answer: 4) Speaking

QID : 374 - Which of these is a remarkable tool for helping students develop speaking and
listening skills?
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Options:
1) Writing
2) Storytelling

)
)
3) Intonation
4) Reading

Correct Answer: 2) Storytelling

Candidate Answer: 2) Storytelling

Techofworld.In

QID : 375 - Which of these paves the way for written Composition?
Options:

1) Guided written composition

2) Free written composition

)
)
3) Oral Composition
4) Listening to compositions

Correct Answer: 3) Oral Composition

Candidate Answer: 4) Listening to compositions

QID : 376 - Using a lecture or a radio announcement in the target language, to help students
become accustomed to different accents and to a realistic pace of speech is useful to teach which
of these?

Options:
1) Speaking
2) Listening
3) Writing
4) Reading

Correct Answer: 2) Listening

Candidate Answer: 2) Listening

QID : 377 - Which of these gives children another means of self-expression, allowing them to
creatively convey feelings and emotions they encounter?

Options:

1) Reading the newspaper
2) Poetry and Recitation

3) Library visits
4) Writing passages

« >
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Correct Answer: 2) Poetry and Recitation

Candidate Answer: 2) Poetry and Recitation

TechoﬁNoHdIn

QID : 378 - ‘Blending’ as the strategy for reading a new word is used to teach which of these?
Options:

1) Poem

)
2) Composition

3) Reading Comprehension
4) Phonics

Correct Answer: 4) Phonics

Candidate Answer: 1) Poem

QID : 379 - To accurately assess English language learners, variations in students’ English
language skills which of these need not be considered?

Options:

1) prior schooling experience

2) proficiency and student achievement
3) trauma due to any other factors

4) height and weight of the child

Correct Answer: 4) height and weight of the child

Candidate Answer: 2) proficiency and student achievement

QID : 380 - At a beginner's level which of these works to inculcate an interest in writing?
Options:

1) writing a letter to a pen pal

2) surfing blogs

)
)
3) listening to advertisements
4) reading newspapers

Correct Answer: 1) writing a letter to a pen pal

Candidate Answer: 1) writing a letter to a pen pal
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QID : 381 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIQ's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were cbserved. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage, which of these is India's only live volcano located in the Andaman and
Nicobar Islands?

= | @Chofworld.In

1
2
3
4

The Amsterdam Island Volcano
The Barren Island volcano

The Batu Tara Volcano

The Bachelor Volcano

— e

Correct Answer: 2) The Barren Island volcano

Candidate Answer: 1) The Amsterdam Island Volcano

QID : 382 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage the scientific team was on board which of these research ships?
Options:

1) RV Sindhu Sankalp

2) P V Sindhu Sankalp

)
)
3) INS Vikrant
4) INS Viraat

Correct Answer: 1) RV Sindhu Sankalp

Candidate Answer: 1) RV Sindhu Sankalp
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QID : 383 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage what was the scientific team doing on January 23rd, 20177

= T@achofworld.In

1) catching fish

2) collecting sea floor samples

3) observing the volcano

4) collecting lava from the spewing volcano

Correct Answer: 2) collecting sea floor samples

Candidate Answer: 2) collecting sea floor samples

QID : 384 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

According to the passage, what did the team observe after sundown?
Options:

1) hot water fountains

2) dust clouds

3) red lava fountains
4) ash clouds

Correct Answer: 3) red lava fountains

Candidate Answer: 3) red lava fountains
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QID : 385 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Barren Island volcano, located 140-km north-east of Port Blair is India's only live volcano and
is located in the Andaman and Nicobar Islands. This volcano had started showing activity in the
year 1991 after being dormant for over 150 years. On the afternoon of January 23, 2017, the
scientific team on board CSIR-NIO's research ship R V Sindhu Sankalp were busy collecting sea
floor samples in the Andaman Basin near the Barren volcano when it suddenly started spewing
ash. During the daytime only ash clouds were observed. However, after sundown, the team
observed red lava fountains spewing from the crater into the atmosphere and hot lava flows
streaming down the slopes of the volcano.

Identify the context in which the word 'DORMANT is used in the passage.

= | @chofworld.In

1) rising
2) awake
3) cheerful
4) resting

Correct Answer: 4) resting

Candidate Answer: 2) awake

QID : 386 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

Who was the first to be granted a United States patent for a telephone?
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Options:

1) Alexander Graham Bell
2) Thomas Stark

3) Thomas Alva Edison
4) Madame Curie

Correct Answer: 1) Alexander Graham Bell

Candidate Answer: 1) Alexander Graham Bell

Techofworld.In

QID : 387 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

The receiver and transmitter are built into which of these?

Options:

1
2
3
4

Ringer
Handset
Keypad
Loudspeaker

PN e

Correct Answer: 2) Handset

Candidate Answer: 4) Loudspeaker
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QID : 388 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

How does a telephone work?

= | @chofworld.In

1) Converts sound into mechanical signal

2) Coverts electrical signal to mechanical signal
3) Converts sound into electrical signal

4) Converts sound to light signal

Correct Answer: 3) Converts sound into electrical signal

Candidate Answer: 3) Converts sound into electrical signal
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QID : 389 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

Which of these is not an essential element of a telephone?

=== Tachofworld.In

1) microphone
2) earphone

3) ringer
4) monitor

Correct Answer: 4) monitor

Candidate Answer: 2) earphone
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QID : 390 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

A telephone, or phone, is a telecommunications device that permits two or more users to conduct
a conversation when they are too far apart to be heard directly. A telephone converts sound,
typically and most efficiently the human voice, into electronic signals that are transmitted via
cables and other communication channels to another telephone which reproduces the sound to
the receiving user.

In 1876, Alexander Graham Bell was the first to be granted a United States patent for a device
that produced clearly intelligible replication of the human voice. This instrument was further
developed by many others. The telephone was the first device in history that enabled people to
talk directly with each other across large distances. Telephones rapidly became indispensable to
businesses, government and households.

The essential elements of a telephone are a microphone (transmitter) to speak into and an
earphone (receiver) which reproduces the voice in a distant location. In addition, most telephones
contain a ringer to announce an incoming telephone call, and a dial or keypad to enter a
telephone number when initiating a call to another telephone. The receiver and transmitter are
usually built into a handset which is held up to the ear and mouth during conversation.

The first telephones were directly connected to each other from one customer's office or
residence to another customer's location. Being impractical beyond just a few customers, these
systems were quickly replaced by manually operated centrally located switchboards. These
exchanges were soon connected together, eventually forming an automated, worldwide public
switched telephone network.

Direct connections were replaced by which of these?

= | @CHhOfworld.In

1) switchboards
2) microphone

3) earphone
4) ringers

Correct Answer: 1) switchboards

Candidate Answer: 2) microphone

QiD : 391 - is the manipulative tool used for developing the geometrical concepts of
‘symmetry’ and ‘reflection’ in Class IV.

6208 99 MHIQYENTR g KI9l 998 64869 ‘T6AT ’ 6 'gRRY 'R MIFTR IRdl Fd6 @Rl I
NS I

Options:

1) Dot paper

@9 6dde

2) Two sided counter
99 996 RIARUR

3) Beads string
6969 9

4) Abacus
AER-AREEH
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Correct Answer: 1) Dot paper
@ Y

Candidate Answer: 3) Beads string
6999 Jar

QID : 392 - In the lesson plans being currently prepared in schools, the aspect to be told after the
content analysis is

TUIREER LIOIFE ge Qe 996 KaIdie, TEYag G6a 860 U6 gRIKN 64
Options:

1) evaluation

RUIDEG

2) teaching-learning activities
F96-5a1 QI

3) competencies to be achieved
QN9 PR QAR

4) teaching learning material
Q4 FQIQ QaIQIe

Correct Answer: 3) competencies to be achieved
QI 2GR QAR

Candidate Answer: 3) competencies to be achieved
GGl PR KRS

Techofworld.In

QID : 393 - 'Development of Geometric thought' model is also called

'ACR OQ SRIE' 6PN f11 QRIAINI

Options:

1) Van Hiele Model
QIR F6@ FEeR

2) S Back Bell

N9 QIR 6QMm

3) S.M. Corey

Q.47 6RIQ

4) No option is correct
67163 Gag 0@ g6

Correct Answer: 1) Van Hiele Model
T F6R F16eR

Candidate Answer: 1) Van Hiele Model
IR T6R Q6N
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QID : 394 - During the teaching-learning process, a teacher can adopt which Mathematics
teaching and learning strategies?

QIOIQIR -FQ1 9FQ AAA6R, IR JT@ GF6R 6aQ TIOIQIR IS° FAIQIR 6F19R T2 @E6I?
Options:

1) Mathematical games
QUEGD 6%

2) Group work

ARG QIE

3) Peer learning

deiq da4

4) All options are correct
Are Iae A0]

Correct Answer: 4) All options are correct
ang Sag A0]

Candidate Answer: 4) All options are correct
Are Iae A0K

QID : 395 - Which of the following is a suitable approach for explaining that a remainder is always
less than the divisor to Class IV students?

0g¢l 694 dRILIg FARRA FRFIER WGEAT AR Q6 &M GITl GEERQ! AIR B¢ AIQ 6RLE RAYS
aml?
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1) Represent division sums as mixed fractions and explain that the numerator of the fraction part
is the remainder

{9 @ard 2QI96q FRIGTR AT RAVAR 99 9Q° Qﬁi@l@@@ 61 QEIPEIR GEFIEACQ VUGIEA 9@ 2°6l
aeg |

2) Explain orally to students many times

gI8g 6F14@ Q6T 26n aQ edF @ag

3) Grouping of objects in multiples of the divisor and showing that the number of objects not in the
group, is less than the divisor

SRR LEAP ALEFRA 60IVIRRE KR! IG° 6QHF 64 YUER RIS UCAR UEFY Jor, AKR 0IR @ |

4) No option is correct
67163 Gag 01 g6L

Correct Answer: 3) Grouping of objects in multiples of the divisor and showing that the number
of objects not in the group, is less than the divisor
SRINSQR LERR 2R 6IFIRAE QAN 9G° 604G 64 PUER FERI U6RR AEER, JFR, AR 0IQ @A |

Candidate Answer: 2) Explain orally to students many times
2185 6714 969 266Q A AR 20
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QID : 396 - How many levels are there in ‘Development of Geometric Thought’ model?

‘TR FIQ SR FIEEATER 6R6S 0 AFE?

Options:

-

w N
—

~
O N WO,

Correct Answer: 1) 5

Candidate Answer: 4) 9

Techofworld.In

QID : 397 - In which form, mathematics is important at primary level?

604 9060, 980 6208 giafie 9a6a gagge ?

Options:

1) Cultural
arese

2) Mental
Aeda

3) Religious
AfiQ

4) Social
AR

Correct Answer: 2) Mental
Aedq

Candidate Answer: 2) Mental
ede

QID : 398 - If a teacher wants to be a good mathematician, then he/she must be able to

@64 39e 99 @68 Qe 9d0FE 62Qlg Q1213 6969 69 6 AT 62N |

Options:

1) solve the problem in no time

2 G1g AAQY AARIS QFQ

2) master the techniques of answering questions

Y46 @G 699 6A9F 69 C1IAR KAS

3) memorise most of the formulae

2RIV 98 9961

4) understand, apply and make connections across the concepts
ARG GEF 9F , 9EUIS @ag 1&° QA9 FUR @9g
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Correct Answer: 4) understand, apply and make connections across the concepts
ARSI GEF G , YUl @Qg ML° A°6LIT SR K0

Candidate Answer: 4) understand, apply and make connections across the concepts
ARG 98 QG , YT @ag \Ie° A°6LIe G2UIR K9G

QID : 399 - According to NCF 2005, which of the following is not the goal of learning
Mathematics?

NCF 2005 Q £156@, &) 69 QI 6295 9dic J9Ia A g6w?

= Techofworld.In

1) Including more Mathematical concepts at primary level
Qlafia 206 81@@ QNEER 2R8I A

2) Giving importance to the method of problem-solving
AAQY AR QAR RS § PR 69

3) Mathematisation of thought process

Qe Gel gl

4) Visualisation of Mathematics

Sdoa Qgal

Correct Answer: 1) Including more Mathematical concepts at primary level
gl2fie 29969 AIZE JIFER M€ AL

Candidate Answer: 1) Including more Mathematical concepts at primary level
gi2fia 2069 2196 QISEe dIedl Qg

QID : 400 - is not a phase in problem analysis.

QAnQyl 68840 9 Odia g6<|

Options:

1) Identify the problem thoroughly
AT QENIGYSRIe T80 @98

2) Identifying different methods
Q0 080 590 *dQ!l

3) Choosing a suitable method
69l6S RAYS BE GRIPE ARSI

4) No option is correct

6163 Gag 01@ gew

Correct Answer: 4) No option is correct
6x16d @aF Ol Q6L

Candidate Answer: 2) Identifying different methods
QPR 08T 099 QA
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QID : 401 - What is the value of the expression 200 + (300 + 10) — 307
200 + (300 + 10) - 30 @ 2EQYEBQ MY 6Q687?

Options:

1) 230

2) 300

3) 200

4) 270

Correct Answer: 3) 200

Candidate Answer: 3) 200

Techofworld.In

QID : 402 - Which of the following digit in 2518 have maximum place value?
2518-6Q FARYE FRIY 60 LT AT ARG JRIER 2F?

Options:

1)8

2)2

3)5

4)1

Correct Answer: 2) 2

Candidate Answer: 2) 2

QID : 403 - What is the value of (9 tens + 2 hundreds + 7 ones)?
(998 +2 40 + 7 9)Q Ry 62607

Options:

1) 927

2)792

3) 297

4) 279

Correct Answer: 3) 297

Candidate Answer: 3) 297
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QID : 404 - If the Least Common Multiple and Highest Common Factor of 32 and K are 96 anc
respectively. Then K is equal to

A8 32 99° K @ mQe I gEion 98° e QrIRd gER1ee QaIgen 96 9e° 4 941 6669 K @ g
6268 |

Options:
1)18
2) 24
3)12
4) 16

Correct Answer: 3) 12

Candidate Answer: 3) 12

Techofworld.In

QID : 405 - Which of the following number is not a perfect square?
B0 g 6ae 2l § Gde ad(aasaq, salRIR) geL?

Options:

1) 784

2) 841

3) 288

4) 196

Correct Answer: 3) 288

Candidate Answer: 1) 784

QID : 406 - If the area of a square is 625 cm?, then what is the side (in cm) of the square?
23 QJI6Aga 6RGTR 625 64T 94, 656Q ATEASR YIB(62F) 6060 629 ?

Options:

1)25

2) 30

3)32

4) 34

Correct Answer: 1) 25

Candidate Answer: 1) 25
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QID : 407 - If the radius of the circle is 14 cm, then what is the circumference (in cm) of the circle?

Q8a IR 14 627 6267 9AK AT (697) 6260 29?
Options:

1) 84

2)88

3) 92
4) 96

Correct Answer: 2) 88

Candidate Answer: 4) 9

TechoﬂNoHdIn

QID : 408 - What is the ratio of the volume of the sphere to the volume of the hemisphere, if the
radius of both sphere and hemisphere is same?

QG 20Q 98 99° gard Quiarl aaie 99, 9eQ 2ILeaq 92 QA AQUIC 6R6e 629 ?

Options:

1)2:
2)1:
3)3:
4H1:

G = N =

Correct Answer: 1) 2:1

Candidate Answer: 1) 2:1

QID : 409 - If the base and height of the parallelogram are 24 cm and 12 cm respectively, then
what is the area (in cm?) of the parallelogram?

9T AREMEMGIF A IR 99° QLI DAFAER 24 637 9e° 12 637 99, 6669 IATARYNQ ASTR (6302
) 6963 K7

Options:
1) 280
2) 284
3) 288
4) 292

Correct Answer: 3) 288

Candidate Answer: 3) 288
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QID : 410 - If the other two sides of a right angled triangles are 40 cm and 30 cm, then what is the
length (in cm) of the hypotenuse?

08 9@ AAERIET RN AR 9 TIS 40 6A7 1e° 30 67 94, 6068 AGERICA 636 (62F) 6a66 297

Correct Answer: 1) 50

Candidate Answer: 3) 130

Techofworld.In

QiD : 411 -
In the given AABC, what is the value of ZACB?

ge® AABC - 60, ZACB @ ¢II§ 6260 897

A

110°

60°

B C

Options:
16
2)10
3) 14
4)18

Correct Answer: 2) 10

Candidate Answer: 2) 10

QID : 412 - If 2y, 4y, Sy, 7y are the angles of the quadrilateral, then what is the value (in degrees)
of y?

2y, 4y, 5y, 7y 9 9PER 6916 99 6968 y @ IR (GT6R ) 6760 6297
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Options:

—
-
N

N
—
(o]

ol e P
NN
& O

Correct Answer: 3) 20
Candidate Answer: 1)

TechoﬁNoHdIn

QID : 413 - Which of the following is supplementary angle (in degrees) of 60°?
ona G2l 620gQI 60° @ OAYeR 6aI8 (G916Q) 660 297

Options:

1) 60

2) 140

3) 150

4) 120

Correct Answer: 4) 120

Candidate Answer: 4) 120

QID : 414 - What is the value (in degrees) of each exterior angle of a 18 sided regular polygon?
18 Q14 FATE 9geea 9538 AITYR 621950 FRY(FH16Q) 6960 6297

Options:

Correct Answer: 1) 20

Candidate Answer: 2) 60
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QID : 415 -

In the given figure, which of the following is
correct?

39 8 6a 60ed a0e 26T ?

wos. | @Chofworld.In

1) AAPQ ~ AABC
2) AAQP ~ AACB
3) AAPQ ~ AACB
4) AABC ~ AAQB

Correct Answer: 3) AAPQ ~ AACB

Candidate Answer: 1) AAPQ ~ AABC

QID : 416 -

In the following question, select the number
which can be placed at the sign of question mark
(?) from the given alternatives.

36 94 6o, TUALRSRI FeT I I 6296 (?)
Qi@ 661 SRG AIRATe ?

|~ o

4
3
6

22

i =Y
|9 0o~
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Options:

Correct Answer: 3) 37

Candidate Answer: 1) 35

Techofworld.In

QID : 417 - In a certain code language, ‘PHONE’ is written as ‘SKRQH’. What is the code for
‘MOBILE’ in that code language?

RG F0% 6216 QINI6R ‘PHONE’ @ ‘SKRQH’ Q1962 626 g4I 64 6218 @191 68 'MOBILE' @ 62165
@q?

Options:
1

2) PRELOH

) PRDLHO
)
3) PRDLCH
)

4) RPDLOH
Correct Answer: 2) PRELOH

Candidate Answer: 3) PRDLCH
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QID : 418 -

The line chart given below shows the quantity of
water (in litre) sold in the seven states of a
country. The water sold is represented in litres.

c6R QU 6ERZRl @IRQ Q16T 6olse cRda AST
QNI 8 6291 TISa QB4 (RCR6) CadIdngl &7
62Q| AIEIC FCIREQ goTyq @@l g

. 350 - 316

£ _ 300 -

ég 950 - 212 304 300

g & 200 -

S z 150 {120

B0 ™ mmie

E (g 50 -

@

8‘ 0 ¥ I 1 T | T 1
51 82 83 S4 S5 S6 57

State / QU=y

R = Total water sold by S1 and S2 state. I e C h Ofw

Q = Total water sold by S7 and S6 state.
What is the value (in litres) of R + Q7

R = 67116 QIn S199° S2 QIgQ 10l G681

Q = S7 \99° S6 QIR YIS TG [ 64T SR
R+ Q QAR (RF19) 4 6297

Options:

1) 760

2) 876

3) 840

4) 800

Correct Answer: 2) 876

Candidate Answer: 1) 760
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QID : 419 -

The line chart given below shows the quantity of
water (in litre) sold in the seven states of a
country. The water sold is represented in litres.

6@ Q2 €90l @Re ©ICE 60lss cada ST
QRIS 9F 6291 TISR ATl (RFREQ) CRdITIng] &
62Q| dIFiE RS1060 9GGg @3l g4I

350 - 316
£ 300 -
) i
% @ 250
g (fé 200 -
3z 150 -
o & i
zg 100
E o 50 -
@
8 0 I I 1 1 I ¥ 1
S1 82 83 54 S5 56 §7
State / Q=4

Total water sold by state S2 is how much percent more than water sold by state S1?

QY S2 QIR TG 6291 6C1G AIF QY S1 QAU TG 6291 VTR FRAIER 6QE6Q ATI°E 6Q4?

“* Techofworld.In

0
1) 15%

2) 16.67%
3) 20%
4)10%

Correct Answer: 2) 16.67%

Candidate Answer: 2) 16.67%
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QID : 420 -

The line chart given below shows the quantity of
water (in litre) sold in the seven states of a
country. The water sold is represented in litres.

cem Q2 6ERdel @IRR GIFE 6olee 6Qda AGT
QIRIQ 9@ 699 ISR AT (RCA6R) ARG 85
629! dIEE FCI96Q goTg @al gl

350 - 316
E _ 300 -
@ A
.% & 250
g & 200 -
3 = 150 1
o & J
£¢ ]
S
= 0

S1 &2 83 S4 S5 S6 S7
State / QY

What is the average (in litres) of total water sold by all states together?

AL QIRY IR AIGTER &6 FE6R 671IC iR 619 (ATIN6R) 669 297

Options:

o Techofworld.In
.

2) 220

3) 205

4)215

Correct Answer: 2) 220

Candidate Answer: 3) 205

QID : 421 - Nailini wants to introduce the topic on ‘Animals — our friend’ to class Ill students. In
order to introduce the topic more interestingly, which of the following will be the best teaching
strategy?

QAR 9o19 6941R 88 8191 AING ‘04 FIER AR oY S9G 66R TCRAG SI226M | 1E Fuag 2R
2Igegd e@sa A99I9R K891 AIF FINYS AU 6966 A9Q N Il AAsFIAR 699 ?
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Options:

1) Ask the students to see pictures of animals given in the text book
FIBRIY ARG JIRER TS| O AR OF 694 929

2) Use a chart showing pictures of different animals

09 9g NIes §g QMR RIF IR FI6Q AACAIT AP

3) Draw pictures of different animals on the black — board

QRIACIEQ SRR A TI9F TG AT

4) Show a video clip on animals and their usefulness

a9 FI9E QU6 IR BF8 A 6 FAAIRE AUCKILNGI FHNER 6QHIG

Correct Answer: 4) Show a video clip on animals and their usefulness
g 79T QAR IR GE8 J 6 6T AUBAITG! FVLER Q6P

Candidate Answer: 4) Show a video clip on animals and their usefulness
9 FIE QUER 9@ QE6 JA 6 6AANRE QAUCLITIGI FENER 69

Techofworld.In

QID : 422 - The three methods of EVS/Science are observation, experimentation and

QAPUIY/FRIG Q TEFIG SR 62 AFERIRL, JEAIT G |

Options:

1) deduction
F6RG!

2) hypothesis
AARER!

3) measurement
€l

4) inference
2908

Correct Answer: 4) inference
QAR

Candidate Answer: 2) hypothesis
AARER!

QID : 423 - After discussing about crop plants, Reema took her students to the crop fields. She
wanted her students to

TR I FAAER ARG AR T6R Gl OIF FIFBIF! AIRG TAR 699G 6ARI6ER | 64 BIGRIG! ARG
RERARIG FILUER |
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Options:

1) list the crops growing in the field

F6Q AR TARNR YRR ARG

2) connect their classroom learning to real — life contexts
690IRE 6g6l10)E JI0UCIq QI2ER F1GRQ AGVER cdiee

3) understand the processes of farming

QI8 Q gl 9Eq 9¢9

4) hands — on experiment in the field

T 69969 6ol K9G

Correct Answer: 2) connect their classroom learning to real — life contexts
6QAIRE 654192 QI0ARIQ IYTR V19T ARE6R 619G

Candidate Answer: 2) connect their classroom learning to real — life contexts
6AAIRE 654192 AI0ARIQ QIYER V19T ARA6Q 62199

Techofworld.In

QID : 424 - While teaching the topic water in her EVS classroom, Anjali organises role play on
different sources of water and individual actions to conserve water. What is the primary aim of this
activity?

QENG 6941 9266 @7 TUACR TI0 ALIAQ! 6I6R, BT 7 A LAVE I 3R @ F6R 6716 8 1B Fau
QUER 6N 69, R ACAFR FAYEM | IT QG Q JHHY REXEY Q6 ?

Options:

1) Improving social skills of students

218191 AI9F ANIGR 6l 60 IR UG

2) Breaking monotony

RS A @69

3) Ensuring active participation of the students in the process of learning
JgQIa gFAlea Sauid AIRE AFA AN AL 2R

4) Enhancing student’s knowledge on sources of water

PQ 6910 RU6Q A1 AIRT RIS 98 Qdal

Correct Answer: 3) Ensuring active participation of the students in the process of learning
Y10 gFIER FQId1 QIRE ATG NS JFES @34

Candidate Answer: 4) Enhancing student’s knowledge on sources of water
P 6916 AA6R A1 AIeE RIS 98 adal

QID : 425 - What is the basic objective of educational excursion in EVS?

Q@ 69 638@ GG Q (IR QEXE Q4 ?
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Options:

1) To develop the energy of children
anl Ao 98 SRl @R

2) Real-life experience to the students
21 8191 7@ QIYTR F1FFQ AGYS

3) Promote Socialisation

AATRAE @ 6gIALR 6Qa!

4) Promote team sprit

G Jogq 69121297 6QQ!

Correct Answer: 2) Real-life experience to the students
2IQ 8191 AIE QIR F19FR AFRE

Candidate Answer: 3) Promote Socialisation
AT § 69I1QILR 69Q!

Techofworld.In

QID : 426 - At lower classes play-way method of teaching EVS is based on

6816 6814116Q QA IQ VIR €<, 69 YSIR1 QACQ RIS |
Options:

1) psychological principles of development
AAY Q 6RI6IRIGR AR

2) sociological principles of teaching
AI0UR Q AP IRIG ATV RIS

3) theory of physical education program
qI91ae 91 QIdigaa dais

4) principles of method of teaching

2RIKAI 8RR AR

Correct Answer: 4) principles of method of teaching
2IQR g8INIQ RIS

Candidate Answer: 3) theory of physical education program
gIQ1ee dal QIdigra dais

QID : 427 - What is the use of asking, probing and imagining questions in class V EVS class?

AHC 64611 R D10 AR 696R T§ ARG, I KA 8 REF| FARIQ AAEAID K€ ?
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Options:

1) observation skills
ZECRRR SRS

2) emotional skills
ARG 6@

3) thinking skills
32 QLR 6RER

4) speaking skills
Q2 RTAIQ 619

Correct Answer: 3) thinking skills
081 QQQIQ 6RER

Candidate Answer: 2) emotional skills
AR 6laR

Techofworld.In

QID : 428 - As per the NCF 2005, what is the theme of EVS?

QAT 2005 2QAIN1 AENG Q S8R @6 ?

Options:

1) Food

Sl

2) Solar system
6dla cae

3) Weather
AIEAIS

4) Energy

)

Correct Answer: 1) Food
Gley

Candidate Answer: 1) Food
Gy

QID : 429 - Which of the following is the strongest argument in favour of adopting a theme —
based approach in EVS?

PENIQ 60 9@ 19 RIS QRERIE 2IAEARS AVER A0 AP FAAGTS BF) FRIQ 62LG ?
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Options:

1) It helps in giving a structure to lesson plans and makes teaching more effective
Nl dI0 el 9@ Q& g9 @09l Qg 2Dl 2@ TRYQ @@ |

2) It helps in making teaching more interesting and activity based

gl AI09LIF ZRR 6ASR B AITIKRIA 2ARFSG AR AT ATIVG! F6R

3) It helps in covering a wide range of concepts, issues and skills

N@QI 2RUIQE, JUEF B 6RHRA 9P T FHRIG QUINIIER ARING F6Q

4) It helps in softening subject boundaries and accessing knowledge holistically
2l S90Q 99760 9LIRRl A2 BIR ZI2Qd QFRIER ARIAT 242N

Correct Answer: 1) It helps in giving a structure to lesson plans and makes teaching more
effective
gl 10 9917 IR QIFI 9919 Q991 A2 SUIDRIG 2R TRYQ QG2 |

Candidate Answer: 2) It helps in making teaching more interesting and activity based
21 9I09QIg 2@ TR 8 QITIGRIA 2IMIFS KRR NG ATING! FEQ

Techofworld.In

QID : 430 - Stories are an important aspect of teaching and learning EVS in primary classes.
Which of the following is the least appropriate reason for including story telling as pedagogy in
EVS classroom?

QAR 644169 ARIQ ARINS 6 FHS! AT QIRINR 12994 §Fial 028 [FORYS AR 6966 AEa
6g61eR G FRIF QIET VNG SEAIQ ATR GRS AR AQ K AAYS FIQE ?

Options:

1) Stories include experiences of the people
ERIRAIRE 2Ged gl QIR

2) Stories cut across various subject areas

QaR QEA6R RITIGT KA KR

3) Stories help in class management

QILIET GO 6g4N1 ARG QAGIER ALIAS KER

4) Stories provide contexts to relate EVS concepts
QLI AEID LFURE]] i1 IR JLIT gIF @60

Correct Answer: 3) Stories help in class management
QLIS JER 65411 IASIRG RARIER ARIAS! K6

Candidate Answer: 3) Stories help in class management
QRITIEN YO 6§61 ARIRRI FAAER ARIASI KRR

QID : 431 - In which century the famous Jagannath Temple at Puri was built by Anangabhima
Deva?

Qo1 3¢ 938 R9Rll AR Q Gl 606 9911 6Q ARART 602 FEARYEA ?
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Options:

1) 10th Century
Qale] SIQIeT

2) 12th Century
FIodl 916N

3) 13th Century
LeLlYsl ATIaT
4) 6th Century
Y dLla

Correct Answer: 2) 12th Century
Y98 ALl

Candidate Answer: 4) 6th Century
AY deIw1

Techofworld.In

QID : 432 - Gopalpur port is located in which district of Odisha?

BE9IQ 62Q FRIER 6AIAIRYR @R 29O ?
Options:

1) Jagatsingpur district
RIS QR

2) Bhadrak district
A9 TR

3) Puri district

go G

4) Ganjam district
G GRI

Correct Answer: 4) Ganjam district
A TR

Candidate Answer: 4) Ganjam district
ST FRI

QID : 433 - In which of the following plants, reproduction occurs through roots?

GRS IR 69R TIIER IR FAUIER JFAR 6TIRAI |

«
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Options:

1) Jasmine

Fim1

2) Turnip
BRERIT

3) Sweet Potato
dor @e

4) Raddish

w!

Correct Answer: 3) Sweet Potato
dor eel

Candidate Answer: 3) Sweet Potato
do1 ex

Techofworld.In

QID : 434 - Jarawa Tribal people are found in which region of India?

FIRQI LIGRIQAT ERIR VIRAFR 699 AFRER 6aYRIQ Hmalrg ?
Options:

1) Lakshadweep Islands

YY1 QIS

2) Andaman and Nicobar Islands
2DIQ1Q 6 G Qags

3) Jharkhand

Glesisa

4) Madhya Pradesh

CRIYERE

Correct Answer: 2) Andaman and Nicobar Islands
VAR 6 RN QIAYEH

Candidate Answer: 2) Andaman and Nicobar Islands
QIR 6 FeRNIR Qag&

QID : 435 - Cuttack is located on the delta of which river?

ROQ 694 991 ALRIFRI6R 2eTE ?
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Options:

1) Indravati
YIS

2) Brahmani
gIgén

3) Sankh
it

4) Mahanadi
LI

Correct Answer: 4) Mahanadi
9199

Candidate Answer: 4) Mahanadi
a1

Techofworld.In

QID : 436 - Which vitamin acts as an antioxidant ageing vitamin?

60 GoIfa 9e 18 2F6ee IGF G9ITe Q168 I @@l ?
Options:

1) Vitamin A
QeIeR A
2) Vitamin B
@gIfe B
3) Vitamin E
@oIfie E
4) Vitamin K
QoIAe K

Correct Answer: 3) Vitamin E
@oIfe E

Candidate Answer: 4) Vitamin K
@e1ia K

QID : 437 - Brahmani river originates in

QIg81 @1 Q A9 62I0E |
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Options:

1) Odisha
6@l

2) Bihar

QIR

3) Jharkhand
Qe

4) Chattisgarh
20992

Correct Answer: 3) Jharkhand
Qlesis

Candidate Answer: 4) Chattisgarh
24161

Techofworld.In

QID : 438 - Which of the following taste buds are present behind salt taste buds?
AR 668 GF 60 FYRYE FUIQ 6R% 668 G QRN ?

Options:

1) Sweet

dol

2) Sour

%'l

3) Bitter

del

4) No option is correct
6@16d Qe O@ g6<

Correct Answer: 2) Sour
oI

Candidate Answer: 2) Sour
Sl

QID : 439 - Which is the state animal of Assam?

AR QAU DG @61 ?
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Options:

1) Mithun

aee

2) Black Buck

Qal 204

3) One-horned rhinoceros
U@ AT QIR Q€

4) Ox

ARG

Correct Answer: 3) One-horned rhinoceros
96 T QI S8l

Candidate Answer: 3) One-horned rhinoceros
e JT QIR 98

Techofworld.In

QID : 440 - “Origin of Species” is written by
“dRIGa Q@ ¢ ERGad ?
Options:

1) Louis Pasteur
209 AR

2) Mendel

2 (N

3) Robert Hooke
QQ% 9@

4) Charles Darwin
oIq eloge

Correct Answer: 4) Charles Darwin
oI I198e

Candidate Answer: 3) Robert Hooke
0Q% g

QID : 441 - Paika Rebellion, 1817 took place in which state of India?

ARG T6912, 1817 AQAGR 609 QIFY6R 6LImeIml ?
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Options:

1) West Bengal
AfAQer

2) Punjab

agiQ

3) Odisha

6@l

4) Tamil Nadu
QAR

Correct Answer: 3) Odisha
6Gsl

Candidate Answer: 3) Odisha
L2l

Techofworld.In

QID : 442 - Who appoints judges of District Court in India?

QIAEER Rl ULRNGR TOINAG ARG @4 5YS @08 ?

Options:

1) The President

ity

2) Chief Minister of State
QU (ISR

3) Governor of State

AURIR QIR

4) Chief Justice of High Court
QP QNG Q i TS

Correct Answer: 3) Governor of State
QTIRN QAU

Candidate Answer: 3) Governor of State
QAR QU

QID : 443 - Chairman of Election Commission is removed from the office in the same manner as

G 20181 OF QIR YIGIRT 6Q FRIGR ACT Q ZUY F A RITIRAQ CATAAN |
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Options:

1) Judge of Supreme Court

Qa9 6916 Q FRIRAE

2) Additional Solicitor General of India
QR AGAB 6ANACA 686RAM

3) Chief of Army Staff

641Ul

4) Governor of State

QARIQ QAR

Correct Answer: 1) Judge of Supreme Court
qde 6919 @ IFIRAE

Candidate Answer: 4) Governor of State
QAQ QIR

Techofworld.In

QID : 444 - Railways were introduced in India during the reign of which British Official?

L

LIACER AR A 2R ERQ GO YN FILR @R AAIAER 6L ?
Options:

1) Dalhousie
ML

2) Cornwallis
*eeIRA

3) Chelmsford
6990%

4) Wavell
(AN

Correct Answer: 1) Dalhousie
MRl

Candidate Answer: 3) Chelmsford
699

QID : 445 - Intensity of Earthquake is measured using

QAR G190 QTR *Q AAIAIN ?
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Options:

1) Physiograph
B

2) Cardiograph
QBB I

3) Seismograph
Pfian go9 99
4) Barograph
Qg Q19 AIdR 9Y

Correct Answer: 3) Seismograph
PR go@ K9

Candidate Answer: 2) Cardiograph
QIPegIr

Techofworld.In

QID : 446 - ‘Minamata Disease’ is caused by high levels of

RIS 6 QERYQ FIG! 6QlIY 621NN |

Options:

1) Lead
el

2) Arsenic
Séie agiel
3) Zinc
@l

4) Mercury
e

Correct Answer: 4) Mercury
aleQ

Candidate Answer: 3) Zinc
QDI

QID : 447 - Which tissues of Human Body store fats?

AIRG 99109 689 6091 JER 98 F7 @Gl ?
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Options:

1) Epithelial Tissue

aeemelim 6asl

2) Adipose Tissue

a4 06 AYRS (2AB6AIR )6

3) Areolar Tissue

29 99Ra IRY (AIBABRIA YA
4) No option is correct

6alad aqg OR 96w

Correct Answer: 2) Adipose Tissue
a9 01 ARG (2B6AIR )6

Candidate Answer: 1) Epithelial Tissue
qdeameim 6asl

Techofworld.In

QID : 448 - With which country, India share its longest internaticnal border?

6P% 694 2 NAGA ATQ 14 2BFISTE A1V A°RE AEF ?
Options:

1) China

Qe

2) Pakistan
(=il

3) Bangladesh
QerMIEQE

4) Myanmar
delicie

Correct Answer: 3) Bangladesh
QermIeYsl

Candidate Answer: 2) Pakistan
axele

QID : 449 - Pulicat Lake is located in

INAIS 2 0l6Q 2QEQ
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Options:

1) Andhra Pradesh

2199694

2) Tamil Nadu

alaraieli

3) Both Andhra Pradesh and Tamil Nadu
Q9 2964 B CIFRRI

4) No option is correct

6al6d Gag O 962

Correct Answer: 3) Both Andhra Pradesh and Tamil Nadu
Qe 2199694 6 QITRAIQ

Candidate Answer: 3) Both Andhra Pradesh and Tamil Nadu
QO 2IFYER4 B QIFRGIQ

Techofworld.In

QID : 450 - Who is known as the Father of Civil Services in India?

RIQPER JAIATR 629IQ AF@ 691N ALIQ RIAN ?

Options:

1) Warren Hasting

@I6Qe 62

2) Charles Cornwallis

QIR FFEIRG

3) Sardar Vallabh Bhai Patel
AR CRA AR TR

4) VV.P. Menon

@. O 609Q

Correct Answer: 2) Charles Cornwallis
Sl agalateliate)

Candidate Answer: 3) Sardar Vallabh Bhai Patel
AVIR RE VIR TR
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